
N = 1261
1261 circles in a circle

radius =   0.026328627267
ratio  =  37.981471265352

density  = 0.874120929961
contacts = 2204

 E.SPECHT
06-AUG-2014

N = 1262
1262 circles in a circle

radius =   0.026250687513
ratio  =  38.094240370180

density  = 0.869642426766
contacts = 2610

 E.SPECHT
01-MAY-2014

N = 1263
1263 circles in a circle

radius =   0.026246124390
ratio  =  38.100863393980

density  = 0.870028974452
contacts = 2416

 E.SPECHT
01-MAY-2014

N = 1264
1264 circles in a circle

radius =   0.026232306731
ratio  =  38.120932721349

density  = 0.869801270335
contacts = 3131

 E.SPECHT
02-MAY-2014

N = 1265
1265 circles in a circle

radius =   0.026228190125
ratio  =  38.126915934714

density  = 0.870216215873
contacts = 3033

 E.SPECHT
02-MAY-2014

N = 1266
1266 circles in a circle

radius =   0.026214505162
ratio  =  38.146819625698

density  = 0.869995555619
contacts = 2437

 E.SPECHT
02-MAY-2014

N = 1267
1267 circles in a circle

radius =   0.026202988369
ratio  =  38.163585997035

density  = 0.869917891524
contacts = 2923

 E.SPECHT
03-MAY-2014

N = 1268
1268 circles in a circle

radius =   0.026188945941
ratio  =  38.184049188949

density  = 0.869671607856
contacts = 2645

 E.SPECHT
03-MAY-2014

N = 1269
1269 circles in a circle

radius =   0.026180217659
ratio  =  38.196779454986

density  = 0.869777417970
contacts = 3141

 E.SPECHT
03-MAY-2014

N = 1270
1270 circles in a circle

radius =   0.026174363407
ratio  =  38.205322683118

density  = 0.870073570715
contacts = 3088

 E.SPECHT
04-MAY-2014

N = 1271
1271 circles in a circle

radius =   0.026168485808
ratio  =  38.213903827812

density  = 0.870367644517
contacts = 3132

 E.SPECHT
04-MAY-2014

N = 1272
1272 circles in a circle

radius =   0.026163275934
ratio  =  38.221513335637

density  = 0.870705633639
contacts = 3050

 E.SPECHT
04-MAY-2014


